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o EX5.1. RRX, Y W7 2L, AR

E(X — EX)(Y — EY)
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2(X —EX)(Y —EY)< (X —EX)®+ (Y — EY)2

o HHEH A cov(X,Y) = E(XY) — (EX)(EY).

(RERGEiTA) BERLIT A hilfEd: mEE. KR



o JEHS.1. XX, Y W ZEAFAE, WFK
(cov(X,Y))? < var(X) - var(Y).

o if: #var(X) =0, X = ¢, Tcov(X,Y) = 0.
%Var(X) > 0, D”Jg( ) E’J%U%'Jﬁ< 0, y_q:

et% (X Xy = EY))

—t2var(X) F 2tcov (X, Y) + Var(Y) >0 -
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“o EX5 2. %0 < Var(X) Var(Y) < oo, JIFR

cov(X,Y)
v/ var(X)4/var(Y)
NX Y FIHRAL, L hpxy, BEHNp.

(RERGEiTA) BERLIT A hilfEd: mEE. KR



o EHE5.2. (1) |p| < 15 (2) X 5Y Bhr, WA, Mifip = 0;
(3) |pl = 1 HEALHTE Ea, b HRY = o + bX.
e E(3): |p| =1 M HEA Mg (t) MRNANO, BIFEIELy (515

g(to) =E (to(X — EX) + (Y —EY))* =0
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(RERGEiTA) BERLIT A hilfEd: mEE. KR



5.2, 4k 1F 2 105 R

_ Yy—H2
2 —2puv) T — Y
! 2)(’11,2—‘,-1) —2p w
! 6_2(1*9

7 2
1 o)

2
O.\/—p

= | I"' >./‘ . y -
AN Ce NIV R TY




